
 

 

Answer to Question #85645 – Math – Statistics and Probability 

Question 

Given the set of data 2, 3, 7, 4, 9. Calculate the sample standard deviation. 

  

Solution 

Given observations 2 , 3 , 7 , 4 , 9 

Number of observations n = 5 

Sum of observations ∑ 𝑥𝑖
𝑖=5
𝑖=1  = 2 + 3 + 7 + 4 + 9 = 25 

Sum of squares of observations  ∑ 𝑥𝑖
25

𝑖=1 = 22 + 32 + 72 + 42 + 92 = 157 

(Standard deviation)2 = 
∑ 𝑥𝑖

25
𝑖=1

𝑛
− (

∑ 𝑥𝑖
𝑖=5
𝑖=1

𝑛
)2    =  

157

5
 − (

25

5
)2  = 31.4 – 25 = 6.4 

Standard deviation = √6.4 = 2.5298.    

Answer: 2.5298. 
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